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B.COM. SECOND YEAR EXAMINATION, 2011B.COM. SECOND YEAR EXAMINATION, 2011B.COM. SECOND YEAR EXAMINATION, 2011B.COM. SECOND YEAR EXAMINATION, 2011B.COM. SECOND YEAR EXAMINATION, 2011

(Correspondence Course)(Correspondence Course)(Correspondence Course)(Correspondence Course)(Correspondence Course)

PAPER -I : JAIN CULTURE AND VALUE OF LIFE (PART-I)PAPER -I : JAIN CULTURE AND VALUE OF LIFE (PART-I)PAPER -I : JAIN CULTURE AND VALUE OF LIFE (PART-I)PAPER -I : JAIN CULTURE AND VALUE OF LIFE (PART-I)PAPER -I : JAIN CULTURE AND VALUE OF LIFE (PART-I)

TIME : 3.00 HRS. MM : 70

{ZX}e … {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt any five questions. Each question carries equal marks.

à. 1. O¡Z Y_© Ho$ _w»` gåàXm`m| H$m {ddoMZ H$a|Ÿ&

Describe the main sects of Jain Religion.

à. 2. ^JdmZ _hmdra Ho$ OrdZ Xe©Z H$mo ~VmVo hþE CZH$s gmYZm nÕ{V na àH$me
S>m{b`oŸ&

Throw light on Mahaveera's method of Austerities. Explain his life
and teachings.

à. 3. AmJ_ H$mo n[a^m{fV H$aVo hþE AmJ_ dmMZmAm| na àH$me S>mb|Ÿ&

Defining the meaning of Aagam throw light on the Canonical
Assembly.

à. 4. H$bm {H$go H$hVo h¢? O¡Z {MÌH$bm H$m {dñVma go {ddoMZ H$a|Ÿ&

What is Art ? Explain in detail the Jain Paintings.

(i) H¥$.n¥.C./P.T.O.

à. 5. àojmÜ`mZ Ho$ _w»` A§Jm| H$m dU©Z H$a|Ÿ&

Describe the prime constituents of Preksha Meditation.

à. 6. àojmÜ`mZ Ho$ d¡km{ZH$ AmYma H$m {ddoMZ H$a|Ÿ&

Describe the scientific bases of Preksha Meditation.

à. 7. g§doJ {H$go H$hVo h¢Ÿ? g§doJ _w{º$ Ho$ Cnm`m| H$m dU©Z H$a|Ÿ&

What is emotion ? Explain the methods emotion management.

à. 8. VZmd {H$go H$hVo h¢? VZmd Ho$ H$maUm| H$m {ddoMZ H$aVo hþE, VZmd à~ÝYZ
H$s à{H«$`m na àH$me S>mb|Ÿ&

Describe 'stress'. Explain the causes of stress and explain the process
of Stress Management.

à. 9. O¡Z g§ñH¥${V H$s  {deofVmAm| na àH$me S>m{bEŸ&

Throw light on the characteristics of Jain Culture.

à. 10. g_` Ho$ _hÎd H$mo ~VmVo hþE g_` à~ÝYZ Ho$ gyÌm| H$s ì`m»`m H$a|Ÿ&

Describing importance of time, explain the tips for time management.

(ii)
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(Correspondence Course)(Correspondence Course)(Correspondence Course)(Correspondence Course)(Correspondence Course)

PAPER -II : PRINCIPLES OF BUSINESS MANAGEMENTPAPER -II : PRINCIPLES OF BUSINESS MANAGEMENTPAPER -II : PRINCIPLES OF BUSINESS MANAGEMENTPAPER -II : PRINCIPLES OF BUSINESS MANAGEMENTPAPER -II : PRINCIPLES OF BUSINESS MANAGEMENT

TIME : 3.00 HRS. MM : 70

{ZX}e … {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt any five questions. Each question carries equal marks.

à. 1. ''à~ÝY ì`{º$`m| H$m {dH$mg h¡ Z {H$ dñVwAm| H$m {ZXo©eZ&""Ÿ ñnîQ> H$s{OEŸ&

'Management is the development of men, not the direction of things."
Explain this statement. 14

à. 2. à~§Y Ho$ {H«$`mË_H$ joÌm| H$m dU©Z H$s{O òŸ&

Describe the functional areas of management. 14

à. 3. (A) A{YH$ma, gÎmm d e{º$ _| Š`m AÝVa h¡?
What is difference between authority and power. 7

(~) A{YH$mam| Ho$ àË`m`moOZ na EH$ g§{jßV {Q>ßnUr {bImoŸ& 7
Write a short note on delegation of authority.

(i) H¥$.n¥.C./P.T.O.



à. 4. g§JR>Z g§aMZm H$mo à^m{dV H$aZo dmbo KQ>H$m| H$m dU©Z H$s{O òŸ&
Describe the contigency factors affecting the organisation structure.

14

à. 5. _oH$J«oJa H$s A{^àoaUm H$s "EŠg' VWm "dmB©' {dMmaYmam H$mo g_PmB òŸ&

Explain the Mcgregors X & Y theories of motivation. 14

à. 6. ZoV¥Ëd H$s {d{^ÝZ e¡{b`m| H$mo ñnîQ> H$s{O òŸ&

Explain the various styles of leadership. 14

à. 7. gåàofU go Amn Š`m g_PVo h¢? gåàofU à{H«$`m H$m dU©Z H$s{O òŸ&

What do you mean by communication ? Describe the process of
communication. 4+10

à. 8. gåàofU H$s ~mYmE± H$m¡Z-H$m¡Zgr h¡? gåàofU H$s ~mYmAm| H$mo Xya H$aZo hoVw
gwPmd Xr{O òŸ&

What are the barriers in communication? Give suggestions for
overcoming the barriers to communication. 7+7

à. 9. 'n[adV©Z H$m à~§Y' {df` na EH$ bKw boI {b{I òŸ&

Write a short essay on 'Management of Change'. 14

à. 10. {ZåZ _| go {H$Ýht Xmo na g§{jßV {Q>ßnUr {b{I ò -

 Write short notes on any two of the following :

(A) g_` à~ÝYZ
Time Management

(~) VZmd à~ÝYZ
Stress Management

(g) A{^àoaU H$s J¡a {dÎmr` VH$ZrH|$
Non-financial techniques of Motivation.

(X) dmVmdaU {díbofU H$m _hÎd Ÿ
Importance of Environment Analysis. 7+7

(iii)(ii)
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PAPER -III : CORPORATE ACCOUNTINGPAPER -III : CORPORATE ACCOUNTINGPAPER -III : CORPORATE ACCOUNTINGPAPER -III : CORPORATE ACCOUNTINGPAPER -III : CORPORATE ACCOUNTING

TIME : 3.00 HRS. MM : 70

Note : Attempt any five questions. Each question carries equal marks.

UNIT-AUNIT-AUNIT-AUNIT-AUNIT-A
iz - 1- vfHkxkksidksa ds nkf;Ùo dk fu/kkZj.k dSls fd;k tkrk gS\ ,d mi;qDr mnkgj.k nsdj

vius mÙkj dks Li"V dhft,A@ How is the liabilities of Underwriters
determined? Illustrate your answer by giving a suitable example.

OR/OR/OR/OR/OR/vFkokvFkokvFkokvFkokvFkok
xks;y fyfeVsM us 10: + okys 10]000 bZfDoVh va’kksa ds fy, 10 izfr’kr izhfe;e ij
izkFkZuk&Ik= vkefU=r djus ds fy, fooj.k&Ik= fuxZeu fd;kA bu va’kksa ij
izkFkZuk&Ik= ds lkFk 3: +] caVu ij 5: +¼izhfe;e lfgr½ vkSj ’ks"k jkf’k ek¡x ij ns;
gSA fuxZeu ij 21@2 xquk vfHknku izkIr gqvkA 20 va’kksa ls de vkosnu &Ik=¼dqy
5]000 va’k½ vLohd`r dj fn;s x;sA 5]000 va’kksa ls de vkosnu&Ik= dks 1]000 va’k
fd;s x;sA 'ks"k jkf’k dks jksd fy;k x;kA 300 va’kksa ds /kkjd caVu jkf’k dk Hkqxrku
djus esa vleFkZ jgsA 450 va’kksa ds va’k/kkjh ek¡x jkf’k dk Hkqxrku djus esa vleFkZ jgs
rFkk muds va’kksa dks tCr dj fy;k x;kA 300 tCr fd;s x;s va’kksa ds lewg esa ls 150
va’k 20 izfr’kr izhfe;e ij iqu%fuxZeu dj fn;s x;sA jksdM+ izfof"V;ksa lfgr
vko’;d tuZy izfof"V;k¡ nhft,A@ Goyal Limited issued a prospectus with the
object of inviting applications for 10,000 Equity Shares of Rs.10 each at a
premium of 10% payable as to Rs.3 on application, Rs.5 on allotment (including
premium) and the balance on call. The issue was subscribed to the extent of 21/2
times. Applications for shares below 20 (5,000 Shares in total) were rejected. An
applicant for 5,000 shares was given 1,000 Shares. The remaining shares were
allotted Pro-rata. The excess amount to the extent of allotment dues was retained.
Shareholders holding 300 Shares failed to pay the allotment money.
Shareholders holding 450 Shares failed to pay the call money and their shares
were forfeited. 150 Equity Shares out of lot of 300 Shares were re-issued at a
premium of 20%. Show the journal entries including cash entries.

UNIT-BUNIT-BUNIT-BUNIT-BUNIT-B
iz- 2 + ,dhd̀r fpÎk D;k gSA ;g D;ksa vkSj dSls rS;kj fd;k tkrk gS\ ,d mi;qDr mnkgj.k

nsdj vius mÙkj dks Li"V dhft,A@What is a Consolidated Balance Sheet? Why
and how is it prepared? Illustrate your answer by giving a suitable example.

O RO RO RO RO R
31 ekpZ] 2010 dks lekIr o"kZ ds fy, u:yk flUFksfVDl fy- ds vxzfyf[kr
ykHk&gkfu [kkrs ls dqy¼vf/kdre½ izcU/kdh; ikfjJfed dh x.kuk dhft;s%
From the following Profit and Loss Account of Narula Synthetics Ltd. for the

¼4½ o"kZ 2008&09 ds ykHk dh x.kuk 2]000: +dh vlk/kkj.k gkfu dks vifyf[kr
djus ds ckn dh xbZ gS vkSj 2009&10  o"kZ ds ykHk esa ls 3]000: + dh
vukorZd vk; lfefYyr gSA@Profit for the year 2008-09 has been
arrived at after writting off abnormal loss of Rs. 2,000, and profit for the
year 2009-10 includes a non-recurring income Rs.3, 000.

¼5½ [;kfr dk ewY;kadu vf/kykHk ds rhu o"kksZa ds Ø; dh okf"kZd o`fr ds
vk/kkj ij djuk gSA@Goodwill is to be valued on the basis of annuity of

3 year's purchase of Super profit.
UNIT-EUNIT-EUNIT-EUNIT-EUNIT-E

iz + 5- _.k&Ik=ksa ds ’kks/ku dh fofHké fof/k;ksa dks le>kb;sA
 Explain the various methods of redemption of Debenture.

OR
1 ebZ] 2010 dks jktLFkku m/kksx fyfeVsM dk lEkkesyu gqvk vkSj 31 ebZ] 2010 dks
bls O;kikj vkjEHk djus dk izek.k&Ik= izkIr gks x;kA dEiuh us 1 tuojh]2010
ls xqIrk ,.M lal dk pkyw O;kikj xzg.k dj fy;kA Ø; ewY; 5]00]000: +fuf’pr
gqvk tks fd 1]00]000: + jksdM+h vkSj 4]00]000: +iw.kZ iznÙk va’kksa ds :i esa ns; FkkA
dEiuh us 4]00]000: + ds va’k udn Hkh cspsA rc 2]50]000: + dh ykxr dh ,d
e’khu yxkbZ xbZA xqIrk ,.M lal ls Ø; dh xbZ lEifÙk fuEu izdkj Fkh% e’khu
3]00]000: +]LVkWd 60]000: ]+isVsUV 40]000: +A 2010 esa dqy fcØh 18]00]000:
+dh gqbZA igys 6 eghauks dh izfr ekl fcØh vfUre 6 eghuksa dh izfr ekl fcØh ls
vk/kh FkhA fuEu O;; ?kVkus ds ckn dEiuh dk ’kq) ykHk 1]00]000: + Fkk% ewY;&ál
54]000: +]vads{kdksa dh Qhl 7]500: ] lapkydksa dh Qhl 25]000: +] izkjfEHkd
O;; 6000: ]+ dk;kZy; O;; 39]000: ]+ fcØh O;; 36000: ]+ foØsrk dks C;kt 31
ebZ]2010 rd 2]500: +A lekesyu ds igys vkSj ckn ds ykHkksa dks Kkr dhft,A
Rajasthan Udyog Limited incorporated on May 1, 2010 received the Certificate
to commence business on May 31,2010. It had acquired a running business
from M/S Gupta and Sons with effect from January 1,2010. The purchases
consideration was Rs.5, 00, 000 of which Rs.1, 00,000 was to be aid in Cash and
Rs.4, 00,000 in the from of fully Paid Shares. The Company also issued Shares
for Rs.4,00, 000 for cash , Machinery costing Rs.2,50,000 was then installed.
Assets acquired from the Vendors were: Machinery Rs.3, 00,000, Stock Rs.60,
000, Patents Rs.40, 000. During the year 2010 the total sales were Rs.18,
00,000, the sales per month in the first half-year were one half of what they
were in the last half-year. The net profit of the Company, after charging the
following expenses was Rs. 1,00,000: depreciation Rs. 54,000/- , Auditors fee
Rs. 7,500 and opertors fees Rs.25, 000, Preliminary expenses Rs.6, 000, office
expenses Rs.39, 000, Selling expenses Rs.36, 000, Interest to Vendors up to
May 31, 2010 Rs.2, 500. Ascertain the pre-incorporation and post-
incorporation amount of profit.

(iv) (i) H¥$.n¥.C./P.T.O.



(ii)

year ended 31st March 2010 calculate the overall (maximum) Managerial
Remuneration:

PROFIT AND LOSS ACCOUNTPROFIT AND LOSS ACCOUNTPROFIT AND LOSS ACCOUNTPROFIT AND LOSS ACCOUNTPROFIT AND LOSS ACCOUNT
Rs.Rs.Rs.Rs.Rs. Rs.Rs.Rs.Rs.Rs.

To Salaries and wages 65,000 By Gross profit 16,70,000
To Repairs 30,000 By Profit on sale of Plant

To Depreciation (including (Cost Rs.3, 00,000 Written
Development Rebate down Value and Rs.1,50,000

Rs.15,000) 1,10,000 and Realisation
To General Expenses 25,000 Rs.3, 20, 000) 1,70,000
To Loss on sale of By Subsidy from the
Investments 20,000 Government 40,000
To Scientific Research
(New laboratory Set up) 1,03,000
To  Donation    to   Charitable                                                                                                                                                                                                                                                                
Institutions 35,000
To Interest on Debentures 35,000
To DebentureTrustees
Remuneration 15,000
To Directors fees 12,000
To Income Tax 5,10,000
To Proposed Dividends 5,10,000
To Balance C/d 4,10,000

18,80,00018,80,00018,80,00018,80,00018,80,000 18,8000018,8000018,8000018,8000018,80000

UNIT-CUNIT-CUNIT-CUNIT-CUNIT-C
iz- 3- dEifu;ksa ds ,dhdj.k ds mís’;ksa dk o.kZu dhft,A dEifu;ksa ds ,dhdj.k

lEcU/kh ys[kk ekus 14 ekxZn’kZu fl)kUrksa dh Hkh foospuk dhft,A
Narrate the objects of amalgamation of Companies. Also discuss the guiding
principle of Accounting Standard 14 relating to amalgamation of companies.

O RO RO RO RO R
31 ekpZ] 2010 dks ,-ds- fyfeVsM dk fpÎk fuEu izdkj Fkk%
On 31st March 2010 the Balance Sheet of A. K. Limited was as follows:

BALANCE SHEETBALANCE SHEETBALANCE SHEETBALANCE SHEETBALANCE SHEET
RsRsRsRsRs RsRsRsRsRs

Share Caital: Building at Cost less Rs.
Authorised, Issued & 5,00,000 depreciation 19,00,000
Subscribed: 12000 70% Machinery at Cost less
Cumulative Preference Rs.1, 60,000 depreciation 6,40,000
Share of Rs.100  each 12,00,000 Goodwill at Cost 2,40,000
2,20,000 Equity Shares of Stock 2,80,000
Rs.10 each 22,00,000 Debtors 1,80,000
Securities Premium 3,20,000 Preliminary Expenses 1,00,000
Creditors 3,20,000 Profit & Loss Account 7,00,000

40,40,00040,40,00040,40,00040,40,00040,40,000 40,40,00040,40,00040,40,00040,40,00040,40,000

iwokZkf/kdkj v’kksa ij 1 vizSy] 2007 ls ykHkka’k cdk;k gSA
Dividend on preference Shares is in arrear from 1st April 2010.

,d Lohd`r iw¡th dVkSrh ;kstuk ds vUrxZr fuEufyf[kr 'krsZa fuf’pr dh xbZ%
The following terms were settled under a duly approved Capital Reduction Scheme:

¼v½ iwokZf/kdkj v’kksa dks 80: +izfr va’k iw.kZ iznÙk rFkk bZfDoVh va’kksa 5: +izfr va’k
iw.kZ iznÙk ij de djuk iwokZf/kdkj v’kksa gSA@Preference Share to be

reduced to Rs.80 each and Equity Shares to Rs.5 each fully paid-up.

¼c½ iwokZf/kdkj v’kksa ij cdk;k ykHkka’k gsrq izR;sd 10: +cdk;k ykHkka’k ds fy,
mudks 5 :- vafdr ewY; dk iw.kZ iznÙk ,d bZfDoVh va’k fuxZfer djuk gSA
One fully paid-up Rs.5 Equity Share to be issued for every Rs.10

Preference Shares dividend arrears.

¼l½ vf/kd`r iw¡th dks mlds ewy jkf’k ij ykuk gSA
The Authorised Share Capital to be restored to its Original Figure.

¼n½ [;kfr] izkjfEHkd [kpsZ vkSj ykHk&gkfu [kkrs ds MsfcV ’ks"k gsrq va’k izhfe;e
[kkrs ds 'ks"k dk mi;ksx djuk gSA@Goodwill, Preliminary Expenses and
debit balance of Profit & loss Account to be written off. Securities
Premium Account may be utilised for this purpose.

¼;½ Hkou dk ewY; 14]80]000 : +ij ykuk gSA@Building to be written down

to Rs.14, 80,000.

mijksDr O;ogkjksa dks ntZ djus gsrq tuZy izfof"V;k¡ nhft, rFkk mlds Ik’pkr~
dEiuh dk fpÎk cukb,A ykHkka’k forj.k dj dk /;ku ugha j[kuk gSA @ Give
journal entries recording the above transactions and drawn up to Balance Sheet
of the Company thereafter. Ignore dividend distribution tax.

UNIT-DUNIT-DUNIT-DUNIT-DUNIT-D
iz + 4- fuLrkjd ds vfUre fglkc ds fooj.k ls vki D;k le>rs gS\ ;g dc vkSj dSls

rS;kj fd;k tkrk gS\ @ What do you understand by Liquidator's Final
Statement of Account?  When and how is it prepared?

OR
fuEu lwpukvksa ds vk/kkj ij [;kfr dk ewY;kadu okf"kZd o`fÙk ds vk/kkj ij
dhft,% @From the following information, compute the value of Goodwill by

using annuity method:

¼1½ vkSlr fofu;ksftr iw¡th 4]00]000 :A@Average Capital Employed

Rs.4, 00,000.

¼2½ ykHk dh lkekU; nj 12 izfr’krA@Normal Rate of Profit12%.

¼3½ ykHk% o"kZ 2007&08 62]000: +] o"kZ 2008&09 59]000: +] rFkk o"kZ 2009&10
66]000: +A@Profit for the year 2007-08 Rs.62, 000; 2008-09

Rs.59,000  and 2009-10 Rs. 66,000

(iii) H¥$.n¥.C./P.T.O.
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PAPER -IV : COMPANY LAW AND AUDITINGPAPER -IV : COMPANY LAW AND AUDITINGPAPER -IV : COMPANY LAW AND AUDITINGPAPER -IV : COMPANY LAW AND AUDITINGPAPER -IV : COMPANY LAW AND AUDITING

TIME : 3.00 HRS. MM : 70

Note : Attempt any five questions. Each question carries equal marks.

{ZX}e … {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

à. 1. {ZOr H$ånZr H$mo n[a^m{fV H$s{O òŸ& {ZOr H$ånZr Am¡a gmd©O{ZH$ H$ånZr
_| AÝVa ñnîQ> H$s{OEŸ&

Define private Company. Distinguish between private and public
company.

à. 2. nmf©X AÝV{Z©̀ _ Š`m h¡? BgH$s {df` dñVw H$mo g_PmB òŸ&

What is an 'Articles of Association'? Explain its contents.

à. 3. EH$ H$ånZr _| gXñ`Vm H¡$go àmßV H$s Om gH$Vr h¡?

How can the membership in a company be acquired ?

à. 4. EH$ H$ånZr Ho$ g_mnZ go Amn Š`m g_PVo h¢? g_mnZ H$s {d{^ÝZ ar[V`m|
H$m g§jon _| dU©Z H$s{O òŸ&

What do you understand by winding up of a company ? Describe
briefly the different modes of winding up.

(i) H¥$.n¥.C./P.T.O.(ii)

à. 5. A§Ho$jU H$m Š`m AW© h¡? A§Ho$jU Ho$ CÔoí`m| H$m dU©Z H$s{OEŸ&

What is meant by Audit? Mention the objects of an audit.

à. 6. {H$Z n[apñW{V`m| _| Ho$ÝÐ gaH$ma Ûmam {H$gr H$ånZr Ho$ AZwg§YmZ H$m
AmXoe {X`m Om gH$Vm h¡? BZ _m_bm| _| Š`m à{H«$`m AnZm`r OmZr Mm{h ò?

In what circumstances may investigation of companies be ordered
by the Central Government ? What should be the procedure in such
cases?

à. 7. H$ånZr A§Ho$jH$ Ho$ d¡Ym{ZH$ A{YH$mam| Ed§ H$Îm©ì`m| H$m dU©Z H$s{OEŸ&

Discuss the statutory powers and duties of a company auditor.

à. 8. Ho$ÝÐr` gaH$ma Ûmam A§Ho$jH$ H$s {Z`w{º$ {H$Z n[a{ñW{V`m| _| H$s Om
gH$Vr h¡?

In what situations auditor is appointed by Central Government ?
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PAPER -V : INCOME TAX LAW AND PRACTICESPAPER -V : INCOME TAX LAW AND PRACTICESPAPER -V : INCOME TAX LAW AND PRACTICESPAPER -V : INCOME TAX LAW AND PRACTICESPAPER -V : INCOME TAX LAW AND PRACTICES

TIME : 3.00 HRS. MM : 70

Note : Attempt any five questions. Each question carries equal marks.

à. 1. {ZåZ{b{IV _| go {H$Ýht Xmo na {Q>ßn{U`m± {b{IE -

Write short notes on any two of the following :

(A) JV df© / Previous Year

(~) H$a XmVm / Assessee

(g) A§eV… H¥${f Am` / Partly Agricultural Income

(X) Am` / Income

à. 2. Am`H$a Ho$ CÔoí` Ho$ {bE H$aXmVmAm| H$m {Zdmg ñWmZ {H$g àH$ma {ZYm©[aV
{H$`m OmVm h¡? {Zdmg ñWmZ H$m H$a Xm{`Ëd na ^ma g_PmB òŸ&

How is residence of Assessees determined for income - tax purpose?
Explain the incidence of residence on tax liability.

(i) H¥$.n¥.C./P.T.O.

Shri Rajendra sells his only residential house in Bikaner on 24th
August, 2009 for Rs 35,80,000 and incurred an expenditure of Rs.
20000 in connection with the transfer. Cost of acquisition of the
house in 1975 was Rs. 2,10,000 and on 1.4.1981 the fair market
value was Rs. 5,00,000. On 10th Jan. 2010 he invests Rs. 5,00,000
in 3 year National Rural Development Bonds. On 16th January, 2010
he purchased a residential flat in Bikaner for Rs. 1,40,000 and
deposits Rs. 1,00,000 in the Capital Gains Deposit Scheme.

Calculate taxable capital gains for Assessment year 2010-2011. The
Cost Inflation Index for 1981-82 is 100 and for 2009-10 is 632.

à. 10. gH$b Hw$b Am` _| go {ZåZ Ho$ gå~ÝY _| hr nmZo dmbr H$Q>m¡Vr gå~ÝYr
àmdYmZm| H$m CëboI H$s{OEŸ&
Give the provisions for deduction from the Gross Total Income in

respect of the following :

(A) Ag_W© Am{lVm| H$s {M{H$Ëgm Ed_² OrdZ {Zdm©h na ì`` Ymam 80
S>r.S>r.Ÿ&
Expenses in respect of medical treatment and maintanance of

disabled dependent U/S 80 DD

(~) _H$mZ {H$am ò H$m ŵJVmZ - Ymam 80 Or.Or.
Payment of house rent U/S 80 GG

(iv)



à. 3. _H$mZ gån{Îm Ho$ dm{f©H$ _yë` go Š`m VmËn ©̀ h¡? EH$ {H$am ò na CR>m ò J ò
_H$mZ H$s ""_H$mZ gån{V go Am`'' H$s JUZm Amn H¡$go H$a|Jo ?

What is meant by annual value of house property ? How would you
compute the "Income from House property" of a let-out house?

à. 4. CZ n[apñW{V`m| H$m dU©Z H$s{OE {OZ_| H$aXmVm H$s Am` _| AÝ` ì`{Š`m|
H$s Am` Omo‹S>r OmVr h¡Ÿ&

Explain the circumstances under which the income of other persons
are included in the total income of an assessee.

à. 5. hm{Z`m| H$s ny{V© Ed_ CÝh| AmJo bo OmZo go g§~§{YV Am`H$a A{Y{Z`_ Ho$
àmdYmZm| H$m dU©Z H$s{OEŸ&

Discuss the provisions of Income tax Act relating to the set off and
carry forward of losses.

à. 6. A{J«_ H$a Ho$ ^wJVmZ Ho$ g§~§Y _| Xm{`Ëd VWm JUZm {d{Y H$m CëboI
H$s{OEŸ&

State the liability to pay advance tax and the method of its
computation.

à. 7. ^maVr` Am`H$a A{Y{Z`_ 1961 Ho$ AÝVJ©V {hÝXw A[d^m{OV n[adam Ho$
H$a-{ZYm©aU Ho$ à_wI VÎdm| H$m {ddoMZ H$s{OEŸ&

Discuss the salient features of Assessment of Hindu Undivided Family
under the Indian Income Tax Act. 1961.

à. 8. lr a{d àH$me, lr am_ Ho${_H$ëg {b{_Q>oS> {Xëbr _| 6400-400-
9600 én ò Ho$ doVZ_mZ _| 1 OyZ, 2003 H$mo 6400 én ò Ho$ àmapå^H$
doVZ na {Z`wº$ hþEŸ& CÝh| doVZ H$m 40 à{VeV _h±JmB© ^Îmm VWm 10
à{VeV ZJa j{Vny{V© ^Îmm {X`m OmVm h¡Ÿ& H$a {ZYm©aU df© 2010-2011
Ho$ {b`o CZH$s doVZ erf©H$ H$s gH$b Am` H$s JUZm H$s{OEŸ& `{X do
H$ånZr Ho$ ~Om` gaH$mar godm _| hmo Vmo CZH$s Am` {H$VZr hmoJr ?

Shri Ravi Prakash was appointed on 1st June 2003 in the Shri Ram
Chemicals Ltd., Delhi in the pay scale of 6400-400-9600 on initial
pay of Rs. 6400. He is paid 40 % of pay as D.A. and 10% of pay as
city compensatory allowance. Compute his gross Income under the
head 'salaries' for the Assessment year 2010-2011.

What would be his Income if he is in Government Service instead of
Companys Service.

à. 9. lr amOoÝÐ ~rH$mZoa H$m Ho$db AnZm Amdmgr` _H$mZ {XZm§H$ 24 AJñV,
2009 H$mo én`o 35,80,000 _| ~oMVm h¡, hñVmÝVaU ì`` Ho$ én`o
20,000 {H$`oŸ& df© 1975 _| Bg _H$mZ H$s àmpßV H$s bmJV én`o
2,10,000 Wr Ed_² Aàob, 1981 H$m BgH$m C{MV ~mOma _yë` én ò
5,00,000 WmŸ& 10 OZdar, 2010 H$mo CgZo én ò 5,00,000 VrZ
dfr©̀  amîQ´>r` J«m_rU {dH$mg ~m°ÊS> _| {d{Z`mo{OV {H$ òŸ& 16 OZdar, 2010
H$mo CgZo EH$ Amdmgr` ßboQ> ~rH$mZoa _| hr én ò 1,40,000 _| H«$` {H$`m
d én ò 1,00,000 ny§Or bm^ O_m `moOZm go O_m H$am òŸ&
H$a {ZYm©aU df© 2010-2011 Ho$ H$a `mo½` ny§Or bm^ H$s JUZm H$[a òŸ&
bmJV d¥{Õ gyMH$m§H$ df© 1981-82 _| 100 Ed_² df© 2009-2010 _|
632 h¡Ÿ&

(iii) H¥$.n¥.C./P.T.O.(ii)
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PAPER -VI : BUSINESS ENVIRONMENTPAPER -VI : BUSINESS ENVIRONMENTPAPER -VI : BUSINESS ENVIRONMENTPAPER -VI : BUSINESS ENVIRONMENTPAPER -VI : BUSINESS ENVIRONMENT

TIME : 3.00 HRS. MM : 70

Note : Attempt any five questions. Each question carries equal marks.

{ZX}e … {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

à. 1. ì`mdgm{`H$ dmVmdaU go Amn Š`m g_PVo h¢? ì`mdgm{`H$ dmVmdaU Ho$
KQ>H$m| H$m dU©Z H$s{OEŸ&

What do you understand by business environment ? Explain the
components of business environment.

à. 2. ^maV _| ~oamoOJmar Ho$ ñdén Ed§ H$maUm| H$mo ñnîQ> H$s{OE Ed§ g_ñ`m Ho$ hb
Ho$ {b ò Cn ẁŠV gwPmd ^r Xr{O òŸ&

Explain the forms and causes of unemployment in India and suggest
suitable remedies to solve these problems.

à. 3. ""^maV _| {ZY©ZVm'' {df` na EH$ bKw {Z~ÝY {b{I òŸ&

Write a short essay on "Poverty in India".

(i) H¥$.n¥.C./P.T.O.(ii)

à. 4. Am¡Úmo{JH$ é½UVm go Amn Š`m g_PVo h¢? BgHo$ H$maUm| H$m dU©Z H$s{O òŸ&

What do you mean by industrial sickness? Explain its reasons.

à. 5. ŵJVmZ gÝVwbZ go Amn Š`m g_PVo h¢? BgH$s à_wI {deofVmE± ~VmB òŸ&

What do you mean by Balance of Payment? Explain is main features.

à. 6. ì`mdgm{`H$ Zr{V emñÌ go Š`m Ame` h¡? BgHo$ joÌ H$mo g_PmB òŸ&

What is meant by business ethics? Describe its scope.

à. 7. ì`dgm` Ho$ gm_m{OH$ Xm{`Ëd go Š`m VmËn ©̀ h¡? Cn^moº$m Am¡a H$_©Mm[a`m|
Ho$ à{V ì`dgm` Ho$ gm_m{OH$ Xm{`Ëdm| H$m g§jon _| dU©Z H$s{OEŸ&

What is meant by social responsibilities? Describe briefly the social
responsibilities towards the consumers and employees.

à. 8. {díd ~¢H$ Ho$ _w»` CÔoí`m| na EH$ g§{jßV {Q>ßnUr {b{IEŸ&

Write a short note on main objectives of World Bank.
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PAPER -VII : PROJECT MANAGEMENTPAPER -VII : PROJECT MANAGEMENTPAPER -VII : PROJECT MANAGEMENTPAPER -VII : PROJECT MANAGEMENTPAPER -VII : PROJECT MANAGEMENT

TIME : 3.00 HRS. MM : 70

Note : Attempt any five questions. Each question carries equal marks.

{ZX}e … {H$Ýht nm§M àíZm| Ho$ CÎma Xr{OEŸ& àË òH$ àíZ Ho$ A§H$ g_mZ h¢Ÿ&

à. 1. n[a`moOZm go AmnH$m Š`m Ame` h¡? EH$ n[a`moOZm H$s {d{^ÝZ {deofVmE§
Š`m hmoVr h¢ ?

What do you mean by a project ? What are different characteristics
of a project ?

à. 2. n{a`moOZm Ag\$b hmoZo Ho$ H$maUm| H$mo g_PmB òŸ?

Explain the causes of project failure ?

à. 3. gmÜ`Vm {díbofU go Amn Š`m g_PVo h¢? EH$ n[a`moOZm _| Amdí`H$
{d{^ÝZ àH$ma Ho$ {díbofUm| H$m {ddoMZ H$s{O òŸ&

What do you understand by feasibility analysis ? Discuss different
types of analysis required in a project.

(i) H¥$.n¥.C./P.T.O.



à. 4. n[a`moOZmAm| Ho$ {d{^ÝZ àH$mam| H$m g§jon _| dU©Z H$s{O òŸ&

Discuss in brief various types of projects.

à. 5. Jm¡ad {b{_Q>oS> EH$ _erZ H«$` H$aZo H$m {dMma H$a ahr h¡Ÿ& ~mOma _| Xmo
_erZ| "A' VWm "~' CnbãY h¡, àË òH$ H$s bmJV 1,00,000 én ò h¡Ÿ&
H$a níMmV² {H$ÝVw õmg nyd© H$s Ano{jV AO©Z| Bg àH$ma h¡ -

Gaurav Ltd. is considering to purchase a machine. Two machines
are available in the market, 'A' and 'B', and each costing Rs. 1,00,000.
Earnings after tax but before depreciation are expected to be as
follows -

Year 1 2 3 4 5

Rs. Rs. Rs. Rs. Rs.

Cash inflows :

Machine 'A' 25,000 37,500 50,000 25,000 12,500

Machine 'B' 12,500 37,500 50,000 37,500 25,000

AXm`Jr Ad{Y {d{Y Ûmam XmoZm| {dH$ënm| H$m _yë`m§H$Z H$s{O òŸ&

Evaluate the two alternatives according to pay-back method.

à. 6. gm_m{OH$ bmJV-bm^ {díbofU go Amn Š`m g_PVo h¢? Eogo {díbofU H$s
Š`m Amdí`H$Vm h¡ ?

What do you mean by social cost-benefit analysis ? Why there is a
need for such analysis.

à. 7. n[a`moOZm _yë`m§H$Z hoVw gm_m{OH$ bmJV-bm^ {díbofU _| à`wº$ {ZåZ
eãXm| H$mo g_PmB òŸ&

Explain the following terms used in social cost-benefit analysis in
project appraisal.

(A) N>m`m _yë` / Shadow Prices

(~) ~møVmE§ / Externalities

à. 8. gm_m{OH$ bmJVm| Ed§ bm^m| H$r Amn nhMmZ {H$g àH$ma H$a|Jo?

How will you identify and measure social cost and benefits ?

à. 9. {d{^ÝZ àH$ma H$s n{a`moOZm g§JR>Z g§aMZmAm| H$mo g§jon _| ~VbmB òŸ&

Explain briefly the various types of project organisation structures.

à. 10. n[a`moOZm à~ÝYH$ H$m¡Z h¡? EH$ g\$b n[a`moOZm à~ÝYH$ _| Š`m JwU hmoZo
Mm{h ò ?

Who is Project Manager ? What qualities are required in  a successful
Project Manager ?

(iii)(ii)


